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Using an Area Model to Multiply
An area model helps students visualize multiplication and 
how the Distributive Property can be used to multiply with 
greater numbers.

In this lesson, students learn that they can use the 
Distributive Property and draw a corresponding area 
model as strategies to multiply with greater numbers 
(multiples of 10). For example, to find 3 × 20, the 
Distributive Property can be used to break apart the factor 
20 into 10 + 10. So, 3 × 20 = 3 × (10 + 10). Students then 
shade 3 rows of 10 squares adjacent to another group of  
3 rows of 10 squares.

Students connect the model to the Distributive Property as 
they find the product of each smaller rectangle, and then 
add the partial products to find the total product. 

Problem Solving • Use  
the Distributive Property

LESSON 5.3

3 × 20 = 3 × (10 + 10)

3 × 10 = 30   3 × 10 = 30

30 + 30 = 60

3 × 20 = 60

LESSON AT A GLANCE

Learning Objective
Solve multiplication problems by using the 
strategy draw a diagram.

Language Objective
Students use the strategy draw a diagram to 
explain how to multiply with multiples of 10. 

Materials
MathBoard

F C R  Focus:
Common Core State Standards
3.NBT.A.3 Multiply one-digit whole numbers by multiples of 10 in the 
range 10–90 (e.g., 9 × 80, 5 × 60) using strategies based on place value 

and  properties of operations.

Also 3.OA.A.3, 3.OA.B.5, 3.OA.C.7

MATHEMATICAL PRACTICES
MP1 Make sense of problems and persevere in solving them. MP3 Construct viable arguments 
and critique the reasoning of others. MP4 Model with mathematics.  MP7 Look for and make 
use of structure.

F C R  Coherence:
Standards Across the Grades
Before
2.OA.C.3

Grade 3
3.NBT.A.3

After
4.NBT.B.5

F C R  Rigor:
Level 1: Understand Concepts....................Share and Show (  Checked Items)
Level 2: Procedural Skills and Fluency.......On Your Own
Level 3: Applications..................................Think Smarter and Go Deeper

F C R  For more about how GO Math! fosters Coherence 
within the Content Standards and Mathematical Progressions 
for this chapter, see page 259H.

FOCUS      COHERENCE      RIGOR   
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Fluency Builder
Add 3-Digit Numbers Write the following 
problems on the board. Have students  
practice adding 3-digit numbers by solving 
the problems and checking their answers 
with a partner.

196 + 235 = 431 308 + 692 = 1,000

217 + 384 = 601 639 + 257 = 896

435 + 321 = 756 972 + 26 = 998

 Problem of the Day 5.3
Use the factors 3 and 6 to write an equation 
that shows the Commutative Property of 
Multiplication. 6 × 3 = 3 × 6

Vocabulary
Interactive Student Edition
Multimedia Glossary e

with the Interactive Student Edition

Essential Question
How can you use the strategy draw a diagram to multiply 
with multiples of 10? 

Making Connections
Invite students to tell you what they know about multiples of 10.

What is a multiple of 10? a number that has 10 as a factor What 
pattern do you see in multiples of 10? Possible answer: They end 
in 0. What digit does 30 end in? 0

Learning Activity
What is the problem the students are trying to solve? Connect the 
story to the problem.

• How many boxes are there? 3 boxes

• How many golf balls are in each box? 30 golf balls

• What operations could you use to find the total number of golf 
balls? multiplication, addition

• What equations could you use to find the total number of golf 
balls? 3 × 30, 30 + 30 + 30

Literacy and Mathematics
Choose one or more of the following activities.

• Ask students to clarify the story and the problem by asking them 
to pick out the important information from the lesson opener.

• Have students think of reasons a golfer might hit so many golf 
balls. Why did he want to practice?

How can you use the 
strategy draw a diagram 
to multiply with multiples 

of 10?

Common Core Fluency 
Standard 3.NBT.A.2



EXPLORE2
3.NBT.A.3 Multiply one-digit whole numbers by multiples of 10 in the range 10–90 (e.g., 9 × 80, 5 × 60) using strategies 
based on place value and properties of operations.
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Unlock the ProblemUnlock the Problem
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Lesson 5.3
PROBLEM SOLVING

Read the Problem

The school assembly room has 5 rows of chairs with 20 chairs 
in each row. If the third-grade classes fill 3 rows of chairs, how 
many third graders are at the assembly?

Problem Solving •
Use the Distributive Property
Essential Question How can you use the strategy draw a diagram to multiply 
with multiples of 10? 

Chapter 5  275

Solve the Problem

What do I need to find?

I need to find how many ___ 
are at the assembly.

What information do I need 
to use?

There are _ chairs in each row.

The third graders fill _ rows of chairs.

Draw a diagram. Finish the shading to 
show 3 rows of 20 chairs.

I can use the sum of the products of the 
smaller rectangles to find how many 
third graders are at the assembly.

3 × 10 = _  3 × 10 = _

_ + _ = _

3 × 20 = _

So, _ third graders are at 
the assembly.

How will I use the information?

The Distributive Property tells me I can 

__ the factor 20 to multiply.

3 × 20 = 3 × (10 + _) 

1. Explain how breaking apart the factor 20 makes finding the 

product easier. __________ 

Number and Operations in Base 
Ten—3.NBT.A.3  Also 3.OA.A.3, 
3.OA.B.5, 3.OA.C.7

MATHEMATICAL PRACTICES
MP1, MP3, MP4, MP7

third graders

30 30

30

break apart

10

20

3

30 60

60

60

Possible explanation: I can use facts I know to fi nd the product. 

10 +

6

10

60 60

Name 

2020 6

6

I need to find how many singers are 

in the performance

 1. Eight teams play in a Little League 
series. Each team has 20 players. 
How many players are in the 
series?

 

 2. The assembly room has 6 rows 
with 30 chairs in each row. If third 
graders fill 3 rows, how many third 
graders are in the room?

 

Problem Solving • Use the 
Distributive Property

There are 6 rows of singers in a performance. There  
are 20 singers in each row. How many singers are in  
the performance?

Read the Problem Solve the Problem

What do I need to find? Record the steps you used to solve 
the problem.

First, I draw and label a diagram to 

show  rows of  singers.

Next, I break apart 20 into 10 + 10  
and find the products of the two smaller 
rectangles.

6 3 10 5  6 3 10 5 

Then, I find the sum of the two  
products. 

 1  5 

6 3 20 5 

So, there are  singers.

What information do I need to use?

There are  rows of singers. 

Each row has  singers.

How will I use the information?

I can draw a diagram and use the 
Distributive Property to break apart the 

factor 20 into 10 1 10 to use facts I 
know.

Lesson 5.3
Reteach

60

120

120

1206060

60

90 third graders160 players

5-9 ReteachChapter Resources
© Houghton Mifflin Harcourt Publishing Company

Name 

Use this problem for 1–3.

  An artist sells 4 paintings for 
$20 each, 4 sculptures for 
$60 each, and 4 photographs for 
$10 each at her art show.

 1. How much money does the artist 
make on these sales in all?

 

Use this problem for 4–6.

  Lee has 6 sheets of stickers with 
30 stickers on each sheet. She has 
8 sheets with 20 stickers each and 
9 sheets with 10 stickers each.

 4. How many stickers does Lee have 
in all?

 

 2. The artist sells 2 more paintings 
and 4 more sculptures at the same 
prices. What is the total amount of 
money the artist has made so far?

 

 5. Lee gives 4 sheets with 20 stickers 
and 3 sheets with 10 stickers to her 
sister. How many stickers does Lee 
have left?

 

 3. How many more paintings, 
sculptures, and photographs would 
the artist  need to sell to make 
another $500?

 

 6. Now Lee gives some stickers to 
her friend Myla. What sheets does 
Lee give to Myla if she has 200 
stickers left?

 7.  How did the Distributive Property help 
you solve the problems? 

 

Lesson 5.3
Enrich

Apply the Distributive Property

Use the Distributive Property to help solve each problem.

Possible answer: I used the Distributive Property to break apart 

greater numbers into lesser numbers that are easier to work with. 

Possible answer: 5 paintings, 

5 sculptures, 10 photographs

320 stickers

Possible answer: 2 sheets with 

30 stickers and 3 sheets with 

20 stickers

430 stickers

$640

$360

5-10 EnrichChapter Resources
© Houghton Mifflin Harcourt Publishing Company

1

2

3 Differentiated
Instruction
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Enrich 5.3Reteach 5.3

Unlock the Problem
MATHEMATICAL PRACTICES

MP4 Model with mathematics. Make sure 
students understand that they need to find 
the number of third graders at the assembly. 
Discuss with students how the graphic 
organizer helps to organize their problem 
solving.

• Why are you using the Distributive 
 Property? Possible answer: if I break apart the factor 
into smaller numbers, I can multiply by smaller  numbers. 

Discuss with students that drawing a model 
on grid paper is like making an array. It 
shows rows and columns but there is no space 
between the rows and columns. This model is 
called an area model.

• How does the diagram show the 
Distributive Property? Possible answer: it shows 
3 rows of 10 added to another 3 rows of 10.

MP4 Model with mathematics.
• If the third graders fill 3 rows, how many 

seats are left over? 40 seats

• Could you break apart the factors in a 
 different way? Explain. Yes; possible explanation: 
I could break apart the 3 into a 1 and a 2. Multiply  
2 × 20 = 40 and 1 × 20 = 20. Add 40 + 20 = 60.

ELL   Strategy: 
 Elicit Prior Knowledge

Students can learn to multiply by 10s using the 
strategies they have used for other numbers. 

• Select a problem from the lesson. Have 
students draw an array or rectangle to 
represent the problem. 

• Show students how to solve the 
problem by breaking apart the larger 
rectangle into smaller ones. For example, 
4 × 30 = 4(10 + 10 + 10).

• Have students use their models to explain to 
a partner how they arrived at their answers.

• Remind them that the breaking apart 
strategy is also called the Distributive 
Property. Encourage them to use that term 
in their explanation.

LESSON 5.3



COMMON ERRORS 

Try Another Problem

404040

10

4

10 101 1

What do I need to find? Record the steps you used to solve 
the problem.

What information do I 
need to use? 

How will I use the 
information?

Megan is watching a marching band practice. 
The band marches by with 4 rows of people 
playing instruments. She counts 30 people
in each row. How many people march in 
the band?

276

Read the Problem Solve the Problem

2. How can you check to see if your answer is reasonable?

3. Explain how you can use the Distributive Property to help you 
find a product. 
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I need to fi nd how many 

people march in the band.

The band has 4 rows of people. 

There are 30 people in each row. 

First, I shade 4 rows of 30, or 10 + 10 + 10.

Next, I fi nd the products of the three smaller 

rectangles. 

4 × 10 = 40 4 × 10 = 40 4 × 10 = 40 

Then, I fi nd the sum of the three products.

40 + 40 + 40 = 120

4 × 30 = 120

So, 120 people march in the band.

I will draw a diagram and break 

apart the factor 30 into 10 + 

10 + 10 to use facts I know. 

Possible answer: there are 4 rows with 30 people in each row; 30 + 30 + 30 + 30 = 120. 

So, my answer of 120 people is reasonable.

Possible explanation: I can break apart the greater factor to use facts I 

know. Then I can add the products to fi nd the total product.

10

4 x 60 = 4 x (10 + 10 + 10 + 10 + 10 + 10)

4
+ 10 + 10 + 10 + 10 + 10

40 40 40 40 40 40

4 x 60 = 4 x (30 + 30)

4
30 + 30

120 120

Advanced Learners

Lesson 5.3 276

Error Students may use addition instead of 
multiplication when using an area model to 
solve a problem.

Example To solve Try Another Problem 
students write:
4 + 10 = 14 4 + 10 = 14 
4 + 10 = 14
14 + 14 + 14 = 42
4 × 30 = 42
Springboard to Learning Remind students 
that an area model shows equal groups. Help 
students recognize that these groups are 
shown by rows, which each have the same 
number of squares. Point out that the number 
of rows and the number of squares in each 
row represent factors.

Try Another Problem
For this problem, make sure students 
understand that they need to find the number 
of people marching in the band. Have students 
answer the questions in the graphic organizer 
and solve the problem. Invite students to share 
their diagrams by sketching them on the board. 
Ask them to communicate the steps they used.

• What strategy and steps did you use to 
solve the problem? Possible answer: I broke apart 
the factor 30 into 10 + 10 + 10. I shaded 4 rows of 
10. I used the diagram to find the products of the 
smaller rectangles. Then I added the products.

• Why do you add the products of the 
smaller rectangles to find the total 
product? Possible answer: each smaller product is 
part of the total product. I add the parts together to 
find the whole product.

• How could you break apart the factor 30 
into three addends? Possible answer: I could 
break apart 30 into 10 + 10 + 10.

• What is another way you can break apart 
the factor 30? Possible answer: 10 + 20

MP2 Reason quantitatively and 
abstractly.

• How can knowing how to use the 
Distributive Property help you multiply 
when you are making a purchase?

You may suggest that students place 
completed Try Another Problem 
graphic organizers in their portfolios.

Visual / Kinesthetic
Individual / Partners

Materials Base-Ten Grid Paper (see eTeacher Resources)

• Have students find all the possible ways to break apart a 
factor into multiples of 10 for 4 × 60 = ■. Students should 
break apart 60 into addends that are multiples of 10. Let 
students know that they may use any number of addends.

• Have students show each example on grid paper with an 
equation that shows the Distributive Property.

•  Have students 
write an 
explanation for 
how they found 
all the ways to 
break apart the 
factor.
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On Your OwnOn Your Own

Share and ShowShare and ShowShare and ShowShare and ShowShare and ShowShare and ShowShare and ShowShare and Show MATH
BOARD
MATH
BOARD
MATH
BOARD
MATH
BOARD
MATHMATHMATHMATH
BOARDBOARDBOARDBOARD √ Circle the numbers you will use.

√ Use the Distributive Property 
and break apart a greater factor 
to use facts you know.

√ Draw a diagram to help you 
solve the problem.

Unlock the Problem

Chapter 5 • Lesson 3  277

Name

1. People filled all the seats in the front section of 
the theater. The front section has 6 rows with 
40 seats in each row. How many people are in 
the front section of the theater?

  First, draw and label a diagram to break apart 
the problem into easier parts to solve. 

   Next, find the products of the smaller rectangles. 

   6 × 10 = _  _ × _ = _ 

_ × _  = _  _ × _ = _

  Then, find the sum of the products. 

  _ + _ + _ + _ = __

  So, there are __ people in the front section of the theater.

2. What if seats are added to the front section of the theater 
so that there are 6 rows with 50 seats in each row? How 
many seats are in the front section?
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3.  SMARTER  Tova sewed 60 pieces of blue ribbon together to make 
a costume. Each piece of ribbon was 2 meters long. She also sewed 
40 pieces of red ribbon together that were each 3 meters long. Did 
Tova use more blue ribbon or red ribbon? Explain.

60 6

6

10 60

60 60 60 60 240

240

300 seats

She used the same amount. 60 × 2 = 120; 40 × 3 = 120

60 10 606 10

DO NOT EDIT--Changes must be made through “File info”
CorrectionKey=A

3_MNLESE342118_C05L03.indd   277 26/02/14   5:47 PM

Math on the Spot videos are in the Interactive 
Student Edition and at www.thinkcentral.com.

277  Chapter 5

a student misses the checked 
exercises

Differentiate Instruction with
	 •	 Reteach 5.3

	 •	 Personal Math Trainer 3.NBT.A.3

	 •	 RtI Tier 1 Activity (online)

Share and Show 
The first problem connects to the learning 
model. Have students use the MathBoard to 
explain their thinking. Suggest that students 
begin solving the problem by first writing the 
problem they need to solve (6 × 40).
Exercise 2 requires students to reinterpret 
Exercise 1 given different information.
MP3 Construct viable arguments and 
critique the reasoning of others.  Have 
students compare their models in Exercise 1 
and discuss different ways to break apart the 
factors.
Use the checked exercises for Quick Check. 
Students should show their answers for the 
Quick Check on the MathBoard.

On Your Own
If students complete the checked exercises 
correctly, they may continue with the On Your 
Own section.

 SMARTER

MATH
BOARD
MATH
BOARD

Math on the Spot 	
Video Tutor
Use this video to help students model and 
solve this type of Think Smarter problem.

DO NOT EDIT--Changes must be made through “File info” 
CorrectionKey=B



ELABORATE4

EVALUATE5 Formative 
Assessment

8

10 10 101 1

 MATHEMATICAL PRACTICES     ANALYZE
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 4. MATHEMATICAL
PRACTICE 3  Verify the Reasoning of Others 

Carina draws this diagram to show that 8 × 30 = 210. 
Explain her error.

 5. WRITE Math  Tamika wants to display 10 trophies on a 
table in a rectangular array. How many different ways can 
Tamika arrange the trophies? Explain your answer.

 6. DEEPER  The drama club has 350 tickets to sell. They sell 
124 tickets on Monday and 98 tickets on Tuesday. How 
many tickets does the drama club have left to sell?

 7.  SMARTER  Select the equations that show the 
Distributive Property. Mark all that apply.

  A  3 × 20 = (3 × 10) + (3 × 10)

  B  (7 + 3) + 8 = 7 + (3 + 8)

  C  (5 × 10) + (5 × 10) = 5 × 20

  D  (9 × 2) + (9 × 4) = 9 × 6

Carina shaded 7 rows of 30 and added the products 7 × 10 = 70, 

7 × 10 = 70, and 7 × 10 = 70; 70 + 70 + 70 = 210. She should 

have shaded 8 rows of 30 and added the products 8 × 10 = 80, 

8 × 10 = 80, and 8 × 10 = 80; 80 + 80 + 80 = 240. So, 8 × 30 = 240.

4 ways; possible explanation: she can make 10 rows of 1, 

1 row of 10, 2 rows of 5, or 5 rows of 2.

128 tickets

Possible explanation:

Differentiated Centers Kit

DIFFERENTIATED INSTRUCTION INDEPENDENT ACTIVITIESD

Lesson 5.3 278

Essential Question
Using the Language Objective
Reflect Have students draw and explain to 
answer the Essential Question. 
How can you use the strategy draw a 
diagram to multiply with multiples of 10? 
Possible answer: I can draw and shade a rectangle on 
grid paper to show the problem. Then I can break apart  
a factor to make smaller rectangles for facts I know.

Math Journal WRITE Math
Write a description of how a diagram can 
help you solve 2 × 40.

MATHEMATICAL PRACTICES

MP3 Construct viable arguments and 
critique the reasoning of others. In 
Exercise 4, students need to analyze the 
diagram to find the error. 

DEEPER

Exercise 6 is a multistep problem that 
involves addition and subtraction. Suggest 
students write a number sentence to 
represent the problem.

 SMARTER

Students will need to identify applications of 
the Distributive Property. Each of the correct 
answers shows different representations of 
equations that use the Distributive Property. 
Students should be able to recognize the 
property’s application in different formats.

Students  
practice 
multiplication 
facts through 10.

Students read 
the book and use 
multiplication facts 
and strategies to 
plan a party.

Literature
Party Plans by  
the Numbers!

Activities
Multiplication  
Dash

Students complete 
orange Activity 
Card 17 by using 
models to apply 
multiplication facts 
through 12 by 12.

Games
Multiplication  
Bingo



Mathematical Practices in Your Classroom  PROFESSIONAL
DEVELOPMENT
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1. Each time a student turns in a perfect spelling test, 
Ms. Ricks puts an achievement square on the bulletin 
board. There are 6 rows of squares on the bulletin board. 
Each row has 30 squares. How many perfect spelling 
tests have been turned in?

  Think: 6 × 30 = 6 × (10 + 10 + 10)

= 60 + 60 + 60 = 180
______

2. Norma practices violin for 50 minutes every day. 
How many minutes does Norma practice violin in 
7 days?

_____

3. A kitchen designer is creating a new backsplash for 
the wall behind a kitchen sink. The backsplash will 
have 5 rows of tiles. Each row will have 20 tiles. 
How many tiles are needed for the entire backsplash?

_____

4. A bowling alley keeps shoes in rows of cubbyholes. 
There are 9 rows of cubbyholes, with 20 cubbyholes 
in each row. If there is a pair of shoes in every cubbyhole, 
how many pairs of shoes are there?

_______

Read each problem and solve.

180 spelling tests

Problem Solving • Use the 
Distributive Property

 5. WRITE Math  Write a description of how a diagram 
can help you solve 2 × 40.

  

  

COMMON CORE STANDARD—3.NBT.A.3
Use place value understanding and properties of 
operations to perform multi-digit arithmetic.

Lesson 5.3
Practice and Homework

350 minutes

100 tiles

180 pairs of shoes

Check students’ work.

279 Chapter 5

Practice and Homework
Use the Practice and Homework pages to 
provide students with more practice of the 
concepts and skills presented in this lesson. 
Students master their understanding as they 
complete practice items and then challenge 
their critical thinking skills with Problem 
Solving. Use the Write Math section to 
determine student’s understanding of content 
for this lesson. Encourage students to use their 
Math Journals to record their answers.

CCSS.Math.Practice.MP1 Make sense of problems 
and persevere in solving them.
Students can persevere in solving problems involving multiplying 
with multiples of 10 by breaking apart a factor and drawing a 
corresponding area model. Students make a plan for breaking  
apart a factor that makes multiplying easier. By drawing an area 
model, students also learn how to visualize situations involving  
equal groups.

The following activities can help promote students’ use of breaking 
apart a factor and area models as entry points to solving problems 
involving equal groups with multiples of 10:

• Draw an area model showing the number of months in the year 
that have 30 days to find the total number of days.

• Draw an area model showing how many stamps you have if you 
buy 6 sheets of stamps with 20 stamps on each sheet.

• Write a word problem about a garden with a number of rows 
with 40 plants in each row.
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Use the line plot for 5–6.

Spiral Review (3.OA.A.1, 3.NBT.A.1, 3.MD.B.4)

Lesson Check (3.NBT.A.3)

1. Each snack pack holds 20 crackers. 
How many crackers in all are there in 
4 snack packs?

  

2. A machine makes 70 springs each 
hour. How many springs will the 
machine make in 8 hours?

  

3. Lila read 142 pages on Friday and 
168 pages on Saturday. Estimate how 
many pages Lila read on Friday and 
Saturday combined.

  

  

 4. Jessica wrote 6 + 6 + 6 + 6 on the 
board. What is another way to show 
6 + 6 + 6 + 6?

  

  

5. Eliot made a line plot to record the 
number of birds he saw at his bird 
feeder. How many more sparrows than 
blue jays did he see?

  

6. How many robins and cardinals 
combined did Eliot see?

  

  

80 crackers

Possible answer: about 300 pages Possible answers: 4 × 6 or 6 × 4

4 more sparrows

5 robins and cardinals

560 springs

Lesson 5.3 280

Continue concepts and skills practice with 
Lesson Check. Use Spiral Review to engage 
students in previously taught concepts and 
to promote content retention. Common Core 
standards are correlated to each section.



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


